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Answer all the questions: 20%x1=20
1) For any non-empty sets A and B, if AcB, then (AxB) n (BxA) is equal to

a) AnB b) AxA c) BxA d) None of these
2) LetX={1,2,3,4},Y={a,b c,d}andf={(1, a), (4,b), (2 0), (3, 4d),(2 d}
then f is

a) an one to one function b) an onto function
c) a function which is not one to one -d) not a function

3) The value of Iogﬁ 512 is

a) 16 b) 18 . )9 d) 12
4) If [x+2] <9, then x belongs to
a) (=, -7) b) [-11,7] C) (-, ~7)U[11, =) d)(-11,7)
5)" Kos 1% +.60s 2° + ..., + €C0s 1790 = gt
a)0 ) S K Ve - d)89
[ 45 '
6) The value of Sin|cos 13
12 5 5 ' -
7) The remainder when 383 is divided by 13 is
‘a) 12 b) 1 c) 11 d)5
8) The sum upto 'n' terms of the series v2 + 8 + 418 +4/32 +........ is
n(n+1) n(n+1)
a) T b) 2n(n+1) c) 2 d)1

e . X
9) If'p'is the distance of the perpendicular from the origin to the line a + % =1

then which of the following is incorrect?

)P b)p=—f-———ab
= i+ 1 a’ +b?
# i
N g 1,11
VTR R
3-x -6 3
10) A root of the equation | -6 3-x 3 |=0is
: 3 3 -6-Xx

a) 6 b) 3 c) 0 d) -6
11) If m(2i +j-K) is a unit vector, then the values of m

ax g b) + = % g 2

|
|
|
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12) If o, B, v are'the direction angfes - T '
- angles of e Vecter F 2 xT i 4 i :
one of the following is incorrect? ‘Of the veT:tOIj F=xi+yj + zl; , then which

. @) sina. + sin2p + sinfy=2 -

b) cos?a + cos?p +-cosy g
©) cos’a + cos?p + cosy =7 i
d) the directidn cosines gf F are (i g Z]
) v T
_ r'#'r

X = 4% _ X 4 X

13) Jm=—— -
a) 2log2 . i
c) log2 ' | b) 2 (log2)?
d) 3 log2
- etanx _ ox
14) 5o tanx-x =
a)l1 "b)e ; :
15) Iff(q) = x.tan"!x, then (1)~ O V2 . DO
a) 1+ Copyiim i QT 1
4 )33 ag-% d) 2
16) It is given that f'(a) exists, then )l(im’w e
y —a X-a ’
a) f(@)-a.f(a) b) fi(a)
C) - ' g
) -f(a) d) f(a)+a.f(a)
-1| [1-cos2x Gl o
17) ftan™! 1/_‘_ - \
) [1+costde = ,
a) x3+c 2 x? s =2
b) 2x%+c c) T i) — s
P : 2
X+2

18) [—=dx s ’
a) ‘\’x2—1_2]og x+1/x2—1’+c ‘ b) Sin—IX"'zlog,X-l-‘\b(z—l +C
c) 2.log x+\/x2—1’—'sin.'1X+C ) Vx¥-14+2.0g **sz‘l“‘c

19) If A and B'are any two events, then the probability that exactly one of them
oceur is ‘ iy |
a) PAUB)+pa UB)
c) P(A)+P(B) - P(A n B)
20) Itis given that the events A and B are such that P(A) = Yo PBG)= 14 and

A %4 Then P(B) is | \
a) ¥ b) % 0% d) y2

b) P& 1 B)+p(R AB)
d) P(A)+P(B)+2.P(A~B)
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Answ . YPART .1y B § e

e ti - -
rany 7 questions: (Qn.No. 30 is COmpuisory) B Al 59t

21)IrA={1‘1f ; . R
/2,3, 4yandB= 13,45, 6) g
. Y ‘ ’ . 1) d’n‘A (A %
22) Solve 2|x+ 1|-6'< 7 and graph the solyyion ser(i(h 7‘; ',lr?:‘)”_:b(grf,;i);(AAB)).
23) Find the general solution of SiN0O = ‘ﬂf_ }
24) Determine the SO g | RIVINR Y
number of permutationg of v 1, ok
- all are taken at TS ‘ the letters of the word 'SIMPLE' if

. {

25) Expand (1 + x)%x upto four terms for |x| < 1
26) Transform the equation 3x+4Y+12 = 0 into normal form.

[0 1 -2
27) For what value of x, the matrix A, A=/-1 o 3]s ‘skev»)—vsymmet"ic.
L2 =3 0

t . . i

28) For A, when the projection of 2 = A1+ 5+ 4k on b = 27 +.6 + 2k is 4 units.

29) Given that P(A) = 0.52, P(B) = 0.43 and P(AnB) = 0.24, find P(& U B).

30) Integfaté with respect to x : (1+x?)"1

PART -1II

Answer any 7 questions. Qn.No. 40 is compulsory: 7X3=21

31) From the curve y = sinx, draw y = sin|x| (Hint : sin(-x) = —sinx*;.
3x+1

32) lResolve into partial fractions: x-2)x+1)

33) Show that 324/3.sin—-.cos - .cos " .cos-~ . cos X = 3.
) ‘ 48 48 24 12 6

34) If nP = 11880 and nC, = 495, find 'n' and 'r'.
1/

/
35) If a, b, c are in Geometric progression and if a}" =b/Y = cyZ . then prove

that x, y, z are in Arithmetic progression. .
36) Find the image of the point (-2, 3) about the line x+2y-9 = 0.

o 2bc - a2 c? b2 ab d?
37), Prove that c? 2ca - b2 a? =b c a
o b? a? 2ab-c? |c ab

Vbl

38) Show that the vectors 2i -}, 31 -4]-4k, i-3j- 5k form a right angled

triangle.
12 6 4x+3
T, - +16e
39) Evaluate the following integral: (4% - 533 3x+2
2 3 d
X X _ X L) .
40) Ify= 1+ —1—' + --2'— + ——3' i , then prove that dx Y.
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Answer all the questions: SRR ‘ W - 7x5=35 f
41) 'a) Find the range of the ’fun(:tion f(xj = 1-3cosx’

(OR)
b) Solve: log;_ (X*-6x+65) = >

42) a) If A+B+C =T, prove that cos?A+cos2B+cos2C = 1-2.cosA.cosB.cosC. :
. | (OR) i
b) Prove that the sum of the first 'n' non-zero even numbers is n2+n.

p . |
43) a) Prove that Yx3 +7 - %/x3 +4 is approximately equal to ~3 when x is

Find the value of k, if the fo||ow|ng equation represents a pair of straight
lines. Further, find whether these lines are parallel or intersecting, -

12>247x = 1
44) a) Using factorythlezgrer)r(\+g1::l thoat : \vv i~ 1 'M;.f:g < |
-2a a+b c+a K% Wﬁhﬂc_ \
a+b -2b b+d=4(a+b)b+c)c+a) Yalarm . 22 &27, |
c+a c+b -2c Temkils 'D,§{'*7¢f'.
(OR)

b) Prove that the medlans of a triangle are concurrent.

b)

45) a) Show that the vectors 57+6j+7k, 71-8j+9k, 31+20j+5k are |

coplanar. | (OR) ',;
3 b
: x” -1 ey 1k : l
b) Show that the function f(x) =<7 7" T X#1 js'continuous on (—es, ). )
" 3 ifx=1 ‘

)
sin” " X
- 1_ 2 _3x - — 0'
46) a) If Y f——l-—xz , show that (1-x°)y,=3xy,-y

(OR)

3x+5 dx 3

+4x+7 : PR

47) a) The chances of X, Y and Z becoming managers of a certain company are
4:2:3. The probabilities that scheme will be introduced if X, Y and Z
become managers are 0.3, 0.5 and 0.4 respectively. If the bonlis scheme
has been introduced, what is the probability that Z was appointed as

b) Evaluate: Ixz

the manager? (OR)
b) Iff:RoRIs defined by f(x) = 3x=5. Prove that f is a bnect\on and find its
inverse.

P e
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